

M1

Setze in die Kästchen Zahlen so ein, dass die Rechnung stimmt.

Achtung: „Punktrechnung geht vor Strichrechnung“

$$(\square + \square) \cdot \square - \square = \boxed{24}$$

$$(\square + \square) \cdot \square \cdot \square = \boxed{24}$$

$$(\square + \square) \cdot \square : \square = \boxed{24}$$

$$(\square - \square) \cdot \square + \square = \boxed{24}$$

$$(\square - \square) \cdot \square - \square = \boxed{24}$$

$$(\square - \square) \cdot \square \cdot \square = \boxed{24}$$

$$(\square - \square) \cdot \square : \square = \boxed{24}$$

$$\square \cdot \square + \square + \square = \boxed{24}$$

$$\square \cdot \square + \square - \square = \boxed{24}$$

$$(\square \cdot \square + \square) \cdot \square = \boxed{24}$$

$$(\square \cdot \square + \square) : \square = \boxed{24}$$

$$\square \cdot \square - \square - \square = \boxed{24}$$

$$(\square \cdot \square - \square) \cdot \square = \boxed{24}$$

$$(\square \cdot \square - \square) : \square = \boxed{24}$$

$$\square \cdot \square \cdot \square + \square = \boxed{24}$$

$$\square \cdot \square \cdot \square - \square = \boxed{24}$$

$$\square \cdot \square \cdot \square \cdot \square = \boxed{24}$$

$$\square \cdot \square \cdot \square : \square = \boxed{24}$$

$$\square \cdot \square : \square + \square = \boxed{24}$$

$$\square \cdot \square : \square - \square = \boxed{24}$$

$$(\square : \square + \square) \cdot \square = \boxed{24}$$

$$(\square : \square - \square) \cdot \square = \boxed{24}$$

$$(\square \cdot \square) + (\square \cdot \square) = \boxed{24}$$

$$(\square \cdot \square) + (\square : \square) = \boxed{24}$$

$$(\square \cdot \square) - (\square \cdot \square) = \boxed{24}$$

$$(\square \cdot \square) - (\square : \square) = \boxed{24}$$

$$(\square \cdot \square) : (\square + \square) = \boxed{24}$$

$$(\square \cdot \square) : (\square - \square) = \boxed{24}$$

$$(\square + \square) \cdot (\square + \square) = \boxed{24}$$

$$(\square + \square) \cdot (\square - \square) = \boxed{24}$$

$$(\square - \square) \cdot (\square - \square) = \boxed{24}$$

$$((\square - (\square \cdot \square)) \cdot \square = \boxed{24}$$

$$((\square - (\square : \square)) \cdot \square = \boxed{24}$$